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WUE - A / SECTION - A

aﬁﬁlﬁm / Objective Type Questions
vy QEAT 1@ 70 7F ¥ TRIF WY & W A fwer T 1T & ﬁﬁ##(fﬂfﬁ#?t

mmﬁwﬁﬁmﬁ omvﬁzwﬁ:ﬁaaﬁrﬁa?‘i‘ssmwm#f

35 x1 =35

Question Nos. 1 to 70 have four options, out of which only one is correct. You have to .

mark your selected option, on the OMR-Sheet. Answer any 35 questwns 35x1=35
&) TIEH | B WA
© fausitd - o) wTEAH
Mens.trual cycle occurs in | '
'Human _ (B) Monkey
~ Chimpanzee : W ~ All of these
/E@%ﬁ%ﬁﬁww%? B
@ Y - e
y/(A)EﬂT(B)ﬁﬁ D) T W B T
\ Binary fission occurs in | ' o
(A)  Amoeba | o o (B) Paramecium
(C) . Both (A) and (B) o (D)  None of these
\7 ?ﬂt{ﬂq 3101 k=i Hﬁzﬁ?ﬁ? 18% % et fef ST = B 2
C a4 : ._'(B] 36
© '8 | (D) 32
In a DNA molecule, the cytosine .is 18%, then the percentage of adenine will be
(A) 64 o (B) 36 '

© 85 e
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4, -
el (B)
" A
D
c T&d 0
Widal test is done to confirm : _
. hoid
(A)  Malaria (B) ’I.‘yp C:;
(cy AIDS (D) Can
/wﬁmﬁﬁﬂrﬁﬁmwwm%? o
) BERE | (B) Taﬁﬁﬁﬂ .
© T B D) TER m
HIV attacks on which of the followmg cells 7
(&)  Bcell ; N \)X Tcell 5
(C) Epithelial cell = / T-helper cell - oy
y@wﬁﬁ#uﬁ%waﬂmﬁa}iﬁﬁﬁ“
© wEE .

The substances to which an immune ' '
_ response is f
Hx _ roduced, are call
| p d, ed

(A)  Allergens B)  Vaceinee
Cines

( Antibodies

. _ o . (D} Antigen '

T Tl % RO e T T 5 s

®  frefm | -

| B)
CHCET T | et
Chemicg) relleased due to allero.. - (D) EGL Ee) ?ﬁ}é :@Qf
(A] Histamine I’gy 18 - .
) énd () B Serotongy,

(D -
) None of these




8.

(A) . Oospores

() Synergids ®) " Antipodals

. - : {D) Secon nucleus
/@Fﬂqﬁﬁ@,@}ﬁ}q%%maﬁwﬁ dary nucl

10. -

11.

(4)  wRfEw B

© S oK wame

One gene pair hides the effect of another gene pair. This phenomenon is
Epistasis o C - (B) '~ .Dominance

(C) Mutation . (D) None of these

Wwﬁw?ﬁmﬁzﬁamwwvﬁ@mﬁmmﬁ
aﬂm% 3@3?11&?3?[%7: | !

JGar B S (B) ?Hﬁacraﬁ?:ﬁ:[

(C) UI-higH L (D wmaﬂ@ﬁ#

A sequence of three bases on tRNA which bmds to mRNA codon is
(A)  Triplet '(B)' Non-sense codon

(C) Antlcodon R . (D)  Termination codon
ga‘lﬁméﬁqﬁa’l aﬁﬁﬁtﬂaﬁﬁmﬁﬂﬁﬂm% wuﬂgw% ?
@) steten | Sfery

© foomg . (D) e
The group of Wuchereria bancrofti which causes filaria in human being is
(A)  Protozoa . (B)  Bacteria

(C) . Virus o (D)  Helminth
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ﬁﬂﬂﬂﬁm’“ﬁm% ?

. L 1l Hi-41
12. @i HePEEA T
( ?
(A ES |
D HHT
() ‘Fﬂqi"-l Dl
o i : hol ?
. , cessive intake of alco
Which organ of the body is most affected by eX .
(B) Liver
(A) Lungs h
stomac
(C)  Spleen (D) Sto
13/ Tiee & FER @1 O TR ¢
(W (@) T H S
Jg;/ REtes) (D) A HTHEA
An exception of Mendel's law is
(A) | Dominance (B) Purity of gamete
J&Y  Linkage (D) Independent assortment
14, 4 % #4 99 darfa qn 2 ? .
L
A} ZMFEIgg
B) &
(IC1 et _
Which of th LrR
of the fallowing is a ge .
&) Typhoid xually ransmitteq disease ?
€ Malarig (B) _ Cholera
15, ~ .
S et \rP/ Syphilis
(A) T .
Wﬁﬁ m
(C R ) .
o g B s iy
Echi,dnai
s (D) :
Al \ Lo Tt
{,I Sonnger, l F T
[(.—] “xun e nk
i hnk
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y ghet ¥
(A) %@:—1 HETF?-[
© e — . B e
Dodo js - ' D) T ¥ o =
(A) Extinct specieg
. (C) Threatened Species {B) Endangered Species
17 ﬁﬂ:{ o g Eﬁ %_@FU'IT‘T =T ‘% () None of these
. . | ) _
(A) - SHAUSI] '
- , B)  yom
C) THA | N
“ D) THE WY
Which of the followmg is a d1plo1d structure ? .
@) Ovum | '_[B_). Endosperm |
(C)  Zysgote (D)  All of these
18, ﬁﬂﬁ@ﬁ?tﬁmaﬁqﬁz%a o

R (B) AR
© e | (D)
Which one is hydrophytic plant ? * -

(4)  Trapa R (B)  Opuntia .
(C) Dalbergza - (D) Acacia
\/ﬂﬂc‘rﬁ FfeTeRTE it Gﬂ?i’r %‘

@ g @ T
©  siewm o TR
Sertoli cells are found in .

. Testis (B) Uterus
. ' | L
T2 o
2 D.1a).9009 D Page 7.of 24




an et ['1;,-’:-’ 'ﬁ ﬁ"]qﬁ ) }’}ﬂ?’,; t ;‘ 44 > }(Y
. : ()’
iﬂl aa + 't‘. ")} 4(-'7 ¢ xx
) ah XY  weing (male) 19
Nsnher of phromoanmes i 'W|Z;£/44 » XY
(A a4+ XX "); 46 + XX
ﬁﬂ ag « XY
g g YT fem 1994 W i e ?
() W (B) ) (
©) IR EW o) R
Rhno sanctuaty is located in which state ? ‘
(Al Assam (Bj West Bengal
() Vuar Pradesh (D) Bihar
22 swen & aRinfw 4 o s @
(A) WIS uH g -
W (B) WA TE AR
€ WE2fEA oo gifem :
T (D} Qa..
Pyrimidines present in RNA are
(A} Cytosine and Thymine
©  Cytosine and Uraciy (B)  Adenine and Guanin
3. I e X D) Thymin )
<1 1IN s fopy o © #nd Uracil
Tl Blar & 5 o
A} fawfey '
o (B) S
Trip) .
(Mp ﬂ ﬂn_ugm Yaccine is noy ® oy
! Diphiney;, used for
¢ Typho *
[ 119 D o ' (B) ert
(M‘QUOQ_D D) Usis
(34) Tetan
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24, SR BE
fy ¥y By URri3n Ay S

(A) ﬁﬁ-’);;
(W warnbrret
S LG R — \

(€ Co 2 (B) Chlarafluarncarbnn

(D)  Nitrogen
25. STF U U ufag )

&) Tefe % :
fere B) = & fam

© e fere (D) ufsaret & fem

Kanha National Park is famous for

(A) Birds J,B( Tigers

(C)  Rhinoceros . (D) Crocodiles

/ frer o S SRR S@ w1 W § o

(A) O, g AR T - (B) =R, MY IR GTE
\lg/zﬁz:r,aﬁ_eﬂ?ﬁ'{ (D) UM, TSl 3R T

Which of the following is the correct food chain ?
- (A) Grass, Wheat and Mango (B) Goat, Cow and Grass
G Grass, Goat and Lion (D)  Grass, Fish and Goat

27.  JaAGIdEe €
/ - |
(A) IR + TF ARZSH gH 99 (B) YR + B

© AR g 99 + Biehe D) T W FE T
Nucleoside is

N[l Sugar + a nitrogenous base (B)  Sugar + Phosphate
(C)  Nitrogenous base + Phosphate (D)  None of these

(11071
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5 .1’111"?2 Pymior &) SET &

o iRAAEE - (B)

The process of formation of gametes is called
__[,aj'/ Gametogencsis ()

(C) Sporogencsis (D)

29 TEiwH TR §

() TR | (B)

(C) s (D)

Restriction enzymes are

(A)  Exonuclease . (B)

(C) Ligase (D)

37 s sE o e R ) o
(A)  TERH (B)
€ uitfefost dx (D)

In National Park, protection is provided to

(A)  Flora (B)

;[}’/. ECOSystcm ’ [D)

Vs ®
o et (D)
Secnnd

(A) :1')’ Productivity is related to

© i (B)

Camivore
[ 119 ® :
ID A (D)
9)

grazysreRfed

gl @ S el

Cytokinesis

None of these
AT RS

Endonuclease_

Polymerase

HTSAT Y
(A) 3R (B) AT &

Fauna

Both (A) and (B)

YRTERY
T R K 5

None of these



32.

1 70 C uy
l asicurization
. is honling of

(A] I‘I’]'.I]k [‘_')11]}

(C) any liquid py 708C
/'131' TROTHRT g 3

(A) -

© =R

The wall of pollen grain is

(A) . Single layered

(C Triple laycred
—y 7-feTRIATEE I el &

(A) YT 9

(C) QITE'W 9

T-lymphocyte originates from
) Bone marrow

(C)
EcoRl USgH &l &d &

Thymus
35.

(A) Bam H1

(C) (A) 3R (B) &I
Source of EcoRI enzyme is
(A) Bam H1

(C) Both (A) and (B) -

my

iy

(R
)

(B)

(D)

(B)
(D)

B
(D)

(B)
(D)

(B)
(D)

(B)
(D)

#4 vy iy auee T

0T 8 ) oy

any liquid abave {0

none of these

el
Fg-Ta

Double layered
Multi-layered

Lo
aFel |

Stomach

Liver

E.coli
Hind111

E.coli
Hind111

[119]D
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36.

| (A) Drosera

A T -
@) @R (B) < o) FEE

(B) Kl

(C)
ivorous plant(s) ?
(B) Nepenthes

Wﬁich of the following is/are insect

(©) Both (A) and (B) (D) Hydrilla
e ¥ o s A g 2

@ it ST (B Eiit
© (A) #R (B) < o D) HYAT
Out of th'c__'followi.ng w_hich'o-ne.is*hermé.phrodite organism ?
() . Hen . (B)  Snake |
(C) Both {A) and (B) ( Earthworm

/Wﬁwﬁmﬁ@w%y |

39 : 'T:h‘lé

Chlorella is a type of.
WA Algae

o B e

(©)
) W‘*_“ (D) el BT G

B) .IBacteria
Ve - (D)7 Single ¢ |
A P A

) Protozoa




/ﬁn{ﬁ@é@qﬁﬁqﬁ%w%)
(@A) Qﬁ?aﬂ-{w
() H@:ﬁqaﬂ;ﬂ%

Purine bases of DNA are
(A)

) AR SR g
(D) 'sﬂﬁﬁaﬁéﬁ

Adenlne and C
Ytosine .
B C ine Thymine
Adenine ang Guanine (B) ytosine and Thy

! | (D)  None of these
\//%m b wror ey, |
() Semp R

| B)~ SfhIsi EIT
O weREEF s
Cancer is caused by |
© (&) Bacteria o | B) Oncogenes
(C) Both (A) and (B) | (D) . None of these
42. & VST H N EGIE 2 o
) T S @ i
© (@ aﬁ? (B) Ml . (D) THAWE :reﬁ
Which one of the followmg is possible in m1cr0propagatmn ?
(A)  Ascxual reproduchon ' (B) Sexual reproductlon
(C) Both (A) and (B) o (D)  None of these
43.  forw wor o sitereller @A SR ¥ 2
(A)  STEI%eT (B) el
©) IwE | g:n?r J o
Aril is edible in which of Lhe following fruits ?
(A)  .Myristica - . (B) Litchi
(C) Annona - (D) All of thege

——
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N
. SO, WEHUT T geIh &

y A B

:c; e o FHAE

Indicator of SO, pollution is . \)E)/ Lichen

(A) ?lgael : D) All of these
(€ Fungl

) R AgEEEl ”&ﬁ//ﬂﬁd

(©) e AYEEE D) (A) I (B) I

Honey is made by

(A) Male honeybee | "~ (B)  "Queen honeybee
(C) Worker horicybee _ (D) _ Both (A) and (B)
ymzrmﬁﬁ-@mwﬁﬁa >
@ & . (B) e
Jor e gt O) I

Which disease is found in hen ?
(A) - Cholera

(B)  Smut
(C)  Both (A) and (B) &/Ranikhet
jjy/é%%EﬁEﬁHETHET%RTH%E%ﬂéEWﬂW?iﬁmﬁTGFF% ?

_ Lactoi_nacil!us

Yeast



(A) TEm .

© W B
Agarose is extracteq frpm D) v =i it
(A) - Maize '
€)  Cycas B

Sca weeds

Y g
/aﬁ'ﬁ?{ R %'-)_q[ s ) N‘onc of these

(4) W | -
| mﬁa‘* B P
@ Ww% © AW

Operon model was pfoposje_d by-- ..

(A)  Watson and Crick" ~(B)  Nirenberg

Jacob and Monad (D) © None of them

T cop S B H
'(C)' CHy, - D) Eﬁ_ﬁmﬁ
Biogas cor_itains . _ | | | |
(A) €O, B Hy
Cﬂq - o e (D) . All of these
| (a) weRE B mwm
o D) SEEAE
In which stage does crossmg -over take place ? ‘
(a) Leptotene o (B) Cytokinesis
(C}  Pachytene ’ (D)  Diakinesis
H'"""‘-——-_.___
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e ”

Weilosnze 2 faam) #i 2@ & 2

52,
ays :|'I'[ Rl
(A} HIV B (K Pl
©) b () AR
PCHR is used to detect _
(A} HIV e T B.
(C) A Cholern " (D) Cancer
53 e siifsm wEn e @ ol o e A 8 ) 6 1 FEl &
(A) i (B)  EETERATA
© adE=d (D) FH F gl
Every living cell of plant can give risec to the whole plant. This property 3
known as
(A} Cloning (B) Somaclonal
ﬂ Totipotency (D) All of these
3 el it & s S g 9 s
A
A (B 2n
(C) 3n .
(D)  (A) HR () g

What is idy lev
hat is the ploidy leve] of chromosomes in endosperm of angj ' ’
glospermic plant:

(A) n
o . . L):\B)/ 2n
D)

_ . both (A) and (C

.. Fel Ay
(A) e Feg (B ’
) IifE
€1 (A) 3R () g T

A
S€xual reproduction

B
{1191 D - - % '
J (A) 913()'9.1:)“‘1‘:IJ lnlernal fertilization
Page 16 of oq _——




ﬁ' iy Lqmq.t ] RAE RS P04 pipen Py s
. s S aUL IR S

oo My 23
o M 46
57. W Higs N W w2
(A) SR # vvewm P ——

© SR YEm (D) ST T e

What does operon modecl represent ?
(A) Gene synthesis (B)  Gene expression

(C Gene regulation (D)  Gene function

58. :ﬁmﬁﬁﬁwmmm%?

(A)  IRIET | y{ a4

(C) AR (D) FH [l

Thalamus is edible part in which of the following ?
(AKX~ Annona ' , (B) Apple

(C)  Orange (D)  All of these

yﬁwﬁmﬁﬁma@ﬁ?m%?
(A)  Sume (B) dxRfies

\(g(/waﬁuajaﬁf (D) T W FI3 T

DNA is genctic material of

(C)  Both (A) and (B) (D)  None of thege

Page 17 of 24 \
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| mﬁﬁw%a%ﬁa’aﬂam ’T@Wﬁmhmwrﬁﬂ?ﬂ%

" . it N (B) stﬁ«'?ﬂ'q
O\ o e

Flow of energy in food chain of an ccosystcm 18

\y/

xJM/ Unidirectional (B) Bidircctional

" (C)  Multidirectional .(D)  None of these

61. AT B TFH Aiow @K T Y ?

) STy B) afgerq gRI=TRkT
(C) 3T | (D) FARISTH
Which of the following is not a biofertilizer ?
(A)  Azotobacter - (B)  Bacillus thuringiensis
(C) Azolla _ _ » ‘ (D) Clostridium
62 &7 TAT Sl shAYT TEaa: fohedh gRT elar € 2
(a) W . .® @
© = - D) WH

Tuberculosis is transmitted by

(A)  Water : \})/ Air

* (C)  Insect ' \P}A Contact
63. W g Wqﬁ%ﬁwﬁnﬁwm% ?

(A)L:'}T{IE' | | ‘-(// e

€ e
‘ | | FH 9 mﬂ
“TRRACtOrg iy s
" p::? ' optimal conditiong produce
ugy '
©) Modjyy, o Oreaniem

(D)  All of these

[A .9009'131341
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6.

b

g'l'&'; iy
Which of the rollow, T
1
@ Mumpg s ot Viral giq o e
(C) Diphthma *T;e ?
. ) Inflyey
6. Feforfar Sy . (D) e
R 3 Wiy Measlog
@A) YT} g T
© ey S TR aow
(D)
Which of the following ; 10t inclydeq ; e
(A) Bce-keepmg *4In anima) husbandry ?
(C)  Fish farming [(E; Poultry farming
o . ' Ol'gaqic farming
_”If ” = " et ey AR 3 5 3
W T R ' B)  Fo Fo g
€ R ey o (D) T FrE
Who among the following is not related with microbiology ?
(A) Louis Pasteur (B)  J.D.Watson
(C) Stephan Hales - (D) Robert Koch
ViR Rt rem ST § 7
Y s @ Ao
| o L e g
O s o I
5

: 4
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Anticodons are found in

(A) m-RNA
(C) r-RNA
y‘ﬂ:ﬁ 3 wiarfeer fott

{A] -ggﬁ'l:ﬁﬂ' aﬂﬁ'ﬂq
© (AR (B) I

Mendel proposed
(A) Law of linkage
( Both (A} and (B)

/gaaa?{w%ﬁmﬁaﬁ ﬁTWW% ?

(A)  wIfaar & |

] Tﬂﬁﬁ‘ﬂ}ﬁmwﬁaﬂ

Law of segregation is also known as

" (A) Law of dominance

M,aw of purity of gametes

&/ (-RNA

(D}

(B)

(D)

(D )

(B)

(D)

B

(D)

Nonc of thesc

aypeifirepat 1 A
i A BT Tl

\/ Law of inheritance

None of these

T HTE I

o ¥ 9

. Law of mdependent assortmeni

None of these




g - 5 SECTION B
g TE Wy / g one
hort Angwe, Type Questions

W@T1#2?ﬁgaﬁv?!ﬁﬁ?lgm%m#!m%&23ﬁ;

mes 2 m
ca arks : 10 x 2=20

sifeferefag = & ?mwwmaﬁﬁmwﬂn%a@aﬂaﬂﬁﬁl 2

- What is Amoeb:ams ? Name its causal organlsm and descrlbe the symptoms of P |
this discase. htlpw wWww, b-.thlud\ com

7 WW%?WHW%%{@&W&%[ T .2
What are éll_ergies?Deé,crﬂlae‘its syniptoms. in brief. - | |
/ wEwARE
‘Write the functlons ofblood ' o | :

f/ Waﬁnwﬁammwaﬁﬁ| S 2

hat is global warmmg ? Explam its effects

‘What is inbreeding ? ' | - o o _ |
Throw light on Kllinefelter"s syndrome. '

7. %‘Toqqoaﬁo qT TETT 1 | L
Throw light on G.M.O. | -

8., W ﬁm%mﬁmmmw@mﬁjml.

/ ' :

Draw a necat and well labelled diagram of transverse SECﬁOn of human ov -
ary,

[119]D [A] 9009- D{J | Page 21 of 24 T
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// Writc rcasons for success of Mendel.
lo. s ol s ) uRE ) 2
Define Coupling and Repulsion.
11, dey F il W U Y | 2
Describe transcription in brief.
2

S (St =) i faeror s w

Explain Biopiracy in brief. | _

What is test-tube baby ?. - o I. | N | '

T e e
.Descrjbe ﬂle-ecologi'cal adgptétiori of xc'rlophytic ﬁlaﬁts. _

15. ﬂﬁﬁﬁﬁégﬂqﬁvﬁmavhﬁl" o o 2

Describe the ill effects of alcoho] | :

16.  3TTIIe HieRen WX yemer @ | | -
| | 2

Comment on Innate-_imljﬁunity |




y; U ISR wiyfye (wferethy W%Wﬁﬁml

2
Draw a neat labelleq diagram of 5 typical antibody
0. Fr Rl dieed b 7T R T a3 4 e & T w9
femierar ferd | 2

What is biodiversity Eotspot ? Write" down

the names and specialities of two
such hotspots of India.

B <t Iudyg o f'Loﬁg Answer Type Questions

e "Ear 21'#'26.5?3‘3%1??#:@#_3“ E_Fﬁﬁ.awafim%';m%%v

swﬁﬂfﬁﬁﬁfaﬁ?mmom#ﬁm! txsots
Qaeétion N;PS. 21 to 26. ar’? Long Answe_r Ty%eo;es:ij:; j:;tgr any 3 quest:,zs:s Iia:z
, éHeSﬁon cd:r?'ies S marks. ‘Give yo;%r answer t.n abou -
o)/ o i W e R ) 5
‘Write lan 'ﬁssay on tj'ssue culture. .
292 'ﬁuqﬁﬁﬁﬁﬁﬂ?ﬁmaﬂaﬁ?aﬁ1 | .
/ | Describe fertilization in flowering plants. |
< iféae s | i
23. Qe STl dehriieh ST Wi

Describe recombinant DNA technology in brief.
esc _ l
. ¥ % grr dm uikRufae it o ave &)
Describe three ecological pyramids with suitable examples.

_ .
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25/ S B ¥ 1ot FRuA @) fafir fafial @) ferarg=T Y

Discuss various mcihods of contraception for the population control.
7’@%@1% ? A Y ToTET guR W T iR wr |

What is pisciculturc ? Mention its role in enrichment of our food.






